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e Please check that this question paper contains 12 printed pages.

e Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

e Please check that this question paper contains 27 questions.

e Please write down the Serial Number of the question before attempting it.

e 15 minute time has been allotted to read this question paper. The question paper will be
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question paper only and will not write any answer on the answer-book during this period.
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General Instructions :
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(i)
(ii)

(iii)

(iv)

v)

(vi)

(vii)

All questions are compulsory.

Questions number 1 — 5 are of one mark each. The answers to these questions

should not exceed 20 words each.

Questions number 6 — 10 are of two marks each. The answers to these questions

should not exceed 40 words each.

Questions number 11 — 16 are of four marks each. The answers to these questions

should not exceed 100 words each.

Questions number 17 — 21 are of five marks each. The answers to these questions

should not exceed 150 words each.

Question number 21 is a map-based question. Write its answers in your answer-
book.

Questions number 22 — 27 are of six marks each. The answers to these questions

should not exceed 150 words each.
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Sftd g o S, ST HETRIfaRTT o st SfgledT ST J&T SHRoT 9T o7 ? 1
What was the main reason for the rivalry between the two super-powers during Cold
War ?

fFeaffgd i g s A FA I T Jg F IR AT B ? 1

(a) 3O TIEd 9 Sl HASTR] ! TR fha |

(b) 38 TYF TS TIehT T 3T <A1 hl T &0l o s Fellfireh 3 Sl IR
fema |

(c) T8 Pod shl T <ht Wifekd T IR fopa |

(d) 3O T IcIGH oM H Tehar TaT i |

Which one of the following statements is TRUE about the First Gulf War ?

(a) Itrevealed the weakness of the USSR.

(b) It revealed the technological gap between the US military capability and that of
the other States.

(c) Itrevealed the strength of Kuwait military.

(d) It united the oil producing countries.

‘Tl 7’ 1 379 T i | 1

Explain the meaning of ‘Privy Purse’.

36 S Ao i g el 7l off fob Ao Srepfoesh gETeEl W wHE qeeri
IEREMEIN 1
Identify the popular movement which demanded the control of local communities

over their natural resources.

3o Torem | qaiak o S sl & gae &= off ? 1

In your opinion, which was the main problem of the North-East people ?

iferrd Jurteft <h feregl <1 foriwdTati =1 Ieoig hifaY | 2x1=2

State any two features of the Soviet System.

i I et fommer & s o o7 18 @ gema i | 2x1=2

Suggest any two methods to save the forests from rapid degradation.
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10.

11.
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Jeftertor 7 ferga Torifa =l fore TR g w9 |yl o ¢ 2

How has globalisation affected the world politics in a major way ?

WA g0 3T fersfientor & TaYH § 33T 17T foheal €1 sheHi shl ISR HIfT | 2x1=2

Highlight any two steps taken by India to support the decolonisation process.

T A’ % A € T8 T /hrIsAT 1, Y B’ o aHa QU T TSI gl |
el e hifs | 4x%=2

gl - A gl - B

(a) &9 qeTT o e Tl bl wgran fean | (i) el SEE

(b) 8 Th <, Ush HEHId 3R Toh g o Foram (i) efefat i
SR fea |

(c) ¥I& U i THISH, USHIRW 3R (i) WA TS g
TSk & o foeg off |

(d) 384 Th WA SR fo=Remrcne Teue % (iv) HR[ME Tl 3% She
w9 H T |

Match correctly the policies/programmes given in List A with the political parties
given in List B :
List— A List— B
(a) It encouraged violent uprisings in (i) Bhartiya Jana Sangh
Telangana region.

(b) It emphasized the idea of one country, (ii) Swatantra Party

one culture and one nation.

(c) It was critical of centralised planning, (iii) Indian National Congress

nationalisation and the public sector.

(d) It worked as a social and ideological (iv) The Communist Party of India

coalition.

TIETTd dTehd o &9 H 1ALl I shl =areat HIfSu | 4

Explain the US Hegemony as a structural power.
4
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13.

14.

15.

16.

17.
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T TS o T <3 o &Y § YA ol GIYF Tsg L& Uiwg hl Trft gewrar o fog
HSTed g1 & | Toheal G1 S dehl o TR WX $H gTdl 1 THH HIfT | 2x2=4
India, as a member nation of the U.N. has a strong claim on the permanent

membership of the UN Security Council. Support this claim on the basis of any two

suitable arguments.

1947 H T R fawred o foredi =R aftormmi et v hifsra | 4x1=4

Describe any four consequences of the Partition of India in 1947.

WA T 1962 3 =4 GRT TR 7T SATHAT o Toh=gl ol & TROTHT 1 HeaTehd hifNT | 2 x 2 = 4

Evaluate any two major consequences of the Chinese invasion on India in 1962.

1979 T 1985 deh h THH 3TIGIcI ohl S840 AN o Tobg ST o &9 H =& GHSAT SITd]
2 7 Ese il | 4

Why is the Assam Movement (1979 to 1985) considered as a movement against the

outsiders ? Explain.

1989 | &g H TMSFA I TWHN b FT hl IR o AW a1el Fohedl IR Sgerrai 1 o
I | 4x1=4

Describe any four developments that led to an era of coalition governments at the
Centre since 1989.

= fe@ U SraaRT i eYEe afeu auT ffaRaa et o TR i - 1+2+2=5
A A ARS8 gob Tt <1 o |1 378 Ty Sy fhU & Sifeh WA o g&Y

4 % 1Y TG AT TR E | AR Y ferear fifer 1 weh mamarguf uge] wia 1 €6 & @1

TEY g | TRA-& "€ ol sfagra e fovara 3tk @ feadt o1 sfaem @ | yra-&4

% SO G 3 <1 1 ST 1 U W WA WA § |

(a) & o Jfdiier, I T AT=ETE <1 Teh AR o &9 H IIWIET R 7

(b) YA 3R & % TS bl T8 Telgd FIT THSAT AT 8 7 IS & HRVT IR |

(c) Tl 31 erewll g g euisy o WRd 31K &4 & Gesl 1 sfage e favama
3R T3 i W amenfa 2 |
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Read the passage given below carefully and answer the questions that follow :

India has maintained good relations with all the post-communist countries. But
the strongest relations are still those between Russia and India. India’s relations with
Russia are an important aspect of India’s foreign policy. Indo-Russian relations are
embedded in a history of trust and common interests and are matched by popular
perceptions.

(a) Other than Russia which communist country is emerging as a big power ?

(b) Why are the relations between India and Russia the strongest ? Give any two
reasons.

(c) Give any two examples of Indo-Russian relations to show the history of trust
and friendship.

18. FrfeRaa staawr i egees ufer 3R i fou st & 3w fofw - 1+2+2=5

T & fawmet TR 3T Aaerarat H aii-wen T & fage 4 & ugen am

AT ST &Y T, Sfeeh Tagrarati hl Ush 9t drgie Tia 3T 31ug ot <ht off 31K @

HTEIA T I8 AT SAlehad o foTC wieqn ht hfed u<t off | 36 99 deh cliehad b o+t <omt

T &l BRI T, GEIaaT JUU AT ek TR, et o gt frfera o | 36 o 30

SR <Eit § Afgearsti oy e T fire o | W ¥ fegeam # Areiin guwes watfuswR

T 3T B3I R I U 3719 § ST ARGH 9 J=07 7 |

(a) AT Tk AT 1 o1 A 8 ?

(b) TAAAT o ITATd, WA o Tgcl 3TH TG i ohH TR T ST TAT TAlehad i
o I T HE AT 7

(c) ¥ 3T ATl <l AHAT + b TehR WRA H FAIhAIAh kAT hl TSTa fhaT ?

Read the passage given below carefully and answer the questions that follow :

It was not just size of the country and the electorate that made this election
unusual. The first general election was also the first big test of democracy in a poor
and illiterate country. Till then, the democracy had existed only in the prosperous
countries, mainly in Europe and North America, where nearly everyone was literate.
By that time, many countries in Europe had not given voting rights to all women. In
this context, India’s experiment with universal adult franchise appeared very bold and
risky.

(a) What does ‘universal adult franchise’ mean ?

(b) What made the first general election in India after independence unusual and
the biggest test of democracy ?

(c) How did the success of the first General Elections strengthen the democratic
process in India ?

59/1 6



19. fFrafaRaa s wt e | ufed o F= foe wei o 3w fafaw | 1+2+2=5
Y i 72 T e et T TR ITeund H 37 T8 | TETETe, S1LUH. % T IR
FHRIfE 91 TH $B 31 gl U T GeT- SR THH o §et W 3feu meft 6l TR
A1 H S T | 39 3R % G TR A Hod ®9 8 39! B Rl FHSER; O § 99
o | ... QR THITaeh gl W ST FviRar st R, w9g § AT el o fefa
HSAS U ST ST HIsHHT o U&T H ST BT U ohl T & $iex el ohl ewehi o
1970 o TeEmst H ARET W71 St 3h1 fawiie 6 |

(a) HEIC: I & T b BT shig et ° g T gg ¢

(b) ST THR h B T THTTETE T H Y3 H H fore sfew meht g fepw Mo foped
Tl SATE <1 3TTeheT SHITT |

(c) 1970 T ARG YT A T o1 YoMy fHehett ?

Read the passage given below carefully and answer the questions that follow :

The split in the Congress Party reduced Indira Gandhi Government to a
minority. Yet, her government continued in office with the issue-based support of a
few other parties including the Communist Party of India and the DMK. During this
period, the government made conscious attempts to project its socialist
credentials. ... In order to end her dependence on other political parties, strengthen
her party’s position in the Parliament and seek a popular mandate for her
programmes, Indira Gandhi’s government recommended the dissolution of the Lok
Sabha in December 1970.

(a)  Which event was mainly responsible for the split in the Congress Party ?
(b) Assess any two efforts made by Indira Gandhi to project socialist credentials of
her government.

(c) What was the outcome of the Lok Sabha dissolution in December 1970 ?

59/1 7 [P.T.O.



20.

2

FR Teu 7T T 1 eAFgdeh 1A hHife 3R Fefafad yei s smdfm: 1+2+2=5
(i) oz men 1A fopa Gfes SATaem @ Tefea @ 7

(i) 39 8fTeh hct 1 32T T AT ? I8 ore T deh =maemTa o7 ?

(iii) & 1 Ff (M) Wifoe gr o e s i m RN AgE & 7

Study the cartoon given above carefully and answer the following questions :

(1)  The given cartoon is related to which military operation ?

(i) What was the objective behind this military operation ? How far was it justified ?

(ii1)) What do the names of different countries written on the uniform of the soldier
signify ?

e - FfaRad woa e gfeeaTia ahafiE & fofe T T@m 20 F M WE: 1+2+2=5
20.1.  THHEE 9% -TA -1 fohd foramem @ wefea & 2
20.2. WA 3R = o o9 Tud o fopegl g & o1 Seoi@ hif |
20.3. =9 T 39T s qe 3eh Tehiqad el 3T 8 T foma ?

Note : The following questions are for the Visually-Impaired candidates only in lieu
of Q. No. 20 :
20.1  Mention the ideology to which Premier Zhou Enlai belonged.
20.2  State any two areas of conflict between China and India.

20.3  When and how did China end its political and economic isolation ?
59/1 8
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TRINT <hl T8 TR 6l v &I
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(V)
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() 1947 = TIaTSH o 9T 36 T Sl IR TR WRA o s farerer fomam i o |
(i) TEARAHI 29T T E |

(i) TETST 1966 H ST AT T |

(iv) 38 TST I TgAT TEIHH ATAST AT |

(v) I8 TS TER B 919 8 FEied g |

In the given political outline map of India, five States have been marked as @, ,
@, @ and @ Identify them on the basis of information given below and write

their correct names with their respective serial number of the information used and

the related alphabet as per the following table :
Serial No. of the information used | Related Alphabet | Name of the State
(1)
(i)
(111)
(iv)
v)

(1) This State was divided between Pakistan and India at the time of Partition in

1947.

(ii)  This State is the 29" State of India.

(i11)) This State was formed in 1966.

(iv) This State had Laldenga as its first Chief Minister.

(v) This State is related to Sardar Sarovar Dam.

e . FfaRad woa hae gfeeaTia e & e T T@ 21 F A WE: 5x1=5
21.1 ¥R o 29 & TS 1 A4 fAReT |
212  HIfhEIH o TTeA o foTe gfeer wfim gra foret frgra =t wifcmest femem o 7
213 1966 T TSR SR TSI T 1 T 61 A1 fAfay |
21.4 T o GHT TRA o i & € Yol TS /& 379 T q0T 781 & ?
21.5 30Tt Y fRstl W < fohd Tsw & wafoa o 2

Note : The following questions are for Visually-Impaired candidates only in lieu of

Q. No. 21:

21.1  Name the 29'" State of India.
21.2  Which theory was advocated by Muslim League for creation of Pakistan ?
21.3  Name the States formed in 1966 on the basis of language.
21.4  Which two North-eastern States/regions of India were not part of Assam

at the time of independence ?

21.5 Angami Zapu Phizo was related to which State of India ?
59/1 10



22. ek SRt o Feregil ®: aivomHl =1 fareror Hifsw | 6x1=6
YT
fg-geftrar =1 It o ' | e-fruerar 6t firest o1 STeher IR |

Analyse any six consequences of Shock Therapy.
OR

Assess the role of non-alignment as a challenge to bipolarity.

23, WA SR TR 3 oite Ge % Rhedl SR g8 1 e iR | 4x 1t =6

AT
U Tl 1 e THTE & TS ST Aol HThi hl 8= a1 SATEAT HifT |

Explain any four issues of conflict between India and Pakistan.
OR
Identify and explain the factors that make the European Union a highly influential

regional organisation.

24, Tova 4 féan =1 =ifta 6 & fotw, 31mueh foam ), T & &F & oF ey qeaqul § 7
319 gfeeehioT fTRe | 3x2=6
FegE
TIH TY G AU TS Bl 31T 3ATG9h =i A & ¢ fohedl o sHront ot fergeron
T |

In your opinion, which three steps of co-operation are important to limit the violence
in the world ? Give your view point.

OR
Why do you consider international organisations like the UN important for the

world ? Analyse any three reasons.
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25. foa s et gu e et & qig fal o6 vl Hifs | 6
JAYAT
Syeitentor & get |, Frenfieht gr fafi= adeni @ feu i anrem w5 9ofa Hifse |

Describe the common interests of the indigenous people spread throughout the world.
OR

Describe the ways in which technology has contributed to the cause of globalisation.

26. 1975 H YRd H @I T SITAhRTe o IS & ERG TTC el i urai o1 o Hifsre |
3x2=6
e
1969 T HE Ul | U fauTer o fehegl €= e o1 v HIfT |

Describe any three lessons learnt from the experience of emergency imposed in India
in 1975.

OR
Describe any three effects of the split in the Congress Party in 1969.

27. W-HITHR H 3Tl o T ITgrl TF I Tuenati o1 aleru i | 37 Toesti

FHTYH o foTT 3UT™ IS | 3x2=6
3t

WA b fepaT1 oh! T FHEITSTT o1 TR0 HiTT | 36 § fohgl o9 o Tama™ & fofg

IUT ST | 3+3=6

Examine the three main problems responsible for the unrest in Jammu and Kashmir.

Suggest measures to solve these problems.
OR
Examine the major problems of the farmers (Kisans) in India. Suggest measures to

solve any three of them.
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